
  

APRIL 2021   60561/CYA3C 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. A Ltd purchased land for Rs. 8,00,000 from Mr. K. It issued 
equity shares of Rs.100 each fully paid up in satisfaction of their 
claim. Give journal entries. 

 H ¼m v¸. ÷P Âhª¸¢x ¹. 8,00,000ØS {»® Áõ[Q¯x. 
C¢{Ö©® AÁ¸US •Êx® ö\¾zu¨£mh u»õ ¹. 100 \© 
£[SPøÍ AÁ›ß ÷Põ›UøPø¯ v¸¨v£kzx® ÁøP°À 
AÎzux. SÔ¨÷£mk £vÄPÒ u¸P. 

2. What is meant by ‘Underwriting’? 

 ‘J¨¦Öv’ Gß£uß ö£õ¸Ò ¯õx? 

3. What do you mean by bonus share? 

 FUP¨£[S Gß£x £ØÔ E©x P¸zx ¯õx? 

4. Give the meaning of convertible preference shares. 

 ©õØÓzuUP •ßÝ›ø©¨ £[SPÒ Gß£vß ö£õ¸Ò u¸P. 

5. What is own debenture investment? 

 _¯ Phß £zvμ •u½k GßÓõÀ GßÚ? 

6. B Ltd issued Rs.2,00,000 12% debentures at 10% discount but 
redeemable at a premium of 15% at the end of 5 years. Give 
journal entries for issue and redemption. 

 ¤ ¼m ¹. 2,00,000 12% Phß £zvμzøu 5 Bsk CÖv°À 15% 
•øÚ©zvÀ «m£uõP 10% ÁmhzvÀ öÁÎ°mhx. öÁÎ±k 
©ØÖ® «m¤ß SÔ¨÷£mk £vÄPÒ u¸P.  

7. What do you understand by profit prior to incorporation? 

 Tmk¸ÁõUPzvØS •¢øu¯ »õ£® £ØÔ }Âº AÔ¢ux ¯õx? 

8. Give the treatment in preparation of final account for salaries 
and debenture interest appeared in trial balance. 

 C¸¨£õ´ÂÀ ÷uõßÖ® \®£Í[PÒ ©ØÖ® Phß £zvμ Ámi 
BQ¯ÁØÔØS CÖv {ø» PnUS u¯õ›¨¤À GÆÁõÖ 
øP¯õÐÃº? 
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9. How do you determine sales ratio in calculation of profit prior to 
incorporation? 

 Tmk¸ÁõUPzvØS •¢øu¯ C»õ£® PnUQkÁuØS ÂØ£øÚ 
ÂQu® GÆÁõÖ wº©õÛ¨¥º? 

10. What is contingent liability? 

 {a\¯ªÀ»õ ö£õÖ¨¦PÒ GßÓõÀ GßÚ? 

11. How will you deal with the following while preparing a 
company’s final accounts for year ended 31.3.2015? 

 Land and buildings (Cost Rs.10,0,000 depreciation provided 
Rs.1,60,000) sold for Rs.15,00,000. 

 J¸ {Ö©zvß 31.3.2015 Ehß •iÁøh²® Bsiß } CÖv 
{ø»U PnUQÀ ¤ßÁ¸ÁÚÁØøÓ GÆÁõÖ }Âº øP¯õÐÃº?  
{»•® Pmhh[PÐ® (AhUP® ¹. 10,00,000 ÷u´©õÚ® 
JxUQ¯x ¹. 1,60,000) ¹. 15,00,000 ØS ÂØP¨£mhx.  

12. Give the meaning of unclaimed dividend. 

 ÷Põμ¨£hõ £[Põuõ¯® Gß£uß ö£õ¸Ò u¸P. 

PART B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. C Ltd forfeited 100 shares of Rs. 100 each for non-payment of the 
first call of Rs. 20 and final call of Rs. 30 of these 60 shares were 
reissued at Rs. 80 per share. Calculate the amount transfer to 
capital reserve and journalise the reissue. 

 ] ¼m uß •uÀ AøÇ¨¦ ¹. 20 ©ØÖ® CÖv AøÇ¨¦ ¹. 30 
ö\¾zuõu u»õ ¹. 100 \© £[SPÒ 100I JÖ¨¤Ç¨¦ ö\´ux. 
CÁØÔÀ 60  £[SPøÍ u»õ ¹. 80ØS ©Ö öÁÎ±k ö\´ux. 
‰»uÚ Põ¨¤ØS ©õØÖ® öuõøP°øÚ PnUQkP. ÷©¾® 
©ÖöÁÎ±miß SÔ¨÷£mk £vÄ u¸P. 

14. Redemption of 10,000 preference shares of Rs. 100 each was 
carried out of reserves and out of the issue of 4000 shares of  
Rs. 100 each @ Rs. 95. What is the amount of capital redemption 
reserve account that is required? and journalise. 

 4000 u»õ ¹. 100 £[SPøÍ ¹. 95ØS öÁÎ°mk ÷©¾® 
Põ¨¦PÎ¼¸¢x® £¯ß£kzv 10,000 u»õ ¹. 100 •ßÝ›ø©¨ 
£[SPÒ «mP¨£mhx.  ‰»uÚ «m¦ Põ¨¤ØS ÷uøÁ¯õÚ 
öuõøP ¯õx? ©ØÖ® SÔ¨÷£mk £vÄPÒ u¸P. 
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15. D Ltd made the following purchase for immediate cancellation  

 30.9.2015  Rs. 12,000 6% Rs. 100 debentures @ Rs. 94 cum-

interest price 

 30.11.2015  Rs. 20,000 6% Rs. 100 debentures @ Rs. 95 ex-

interest price 

 Interest is payable on 30th June and 31st December every year. 

Make out journal entries to record the above purchase. 

 i ¼m  ¤ßÁ¸ÁÚÁØøÓ EhÚi μzvØS Áõ[Q¯x  

 30.9.2015À ¹. 12,000 6% ¹. 100 Phß £zvμ[PÒ ¹. 94 Ámi 

÷\º¢u Âø»°À 

 30.11.2015À ¹. 20,000 6% ¹. 100 Phß £zvμ[PÒ  

¹.95ØS Ámi°À»õ Âø»°À.  

 JÆöÁõ¸ Bsk® áüß 30 ©ØÖ® i\®£º 31À Ámi 

ö\¾zu¨£k®. ÷©ØTÔ¯ öPõÒ•u¼øÚ £vÂh SÔ¨÷£mk 

£vÄPÒ HØ£kzxP. 

16. E Ltd was incorporated on 1.7.2015 in order to purchase a 

running business from 1.1.2015. from the following details 

calculate pre-incorporation loss. 

 (a) Total sales for the year 2015 was Rs. 1,80,000 

 (b) Sales from 1.1.2015 to 30.6.2015 Rs. 60,000 

 (c) Gross profit for the whole year Rs. 54,000 

 (d) Establishment expenses RS. 37,00 

 1.1.2015À C¸¢x J¸ C¯[QÁ¸® Â¯õ£õμzøu Áõ[SÁuØS 

1.7.2015À D ¼m E¸ÁõUP¨£mhx. ¤ßÁ¸® Â£μ[PÒ öPõsk 

Tmk¸ÁõUPzvØS •¢øu¯ |mh® PnUQkP. 

 (A) 2015 B® BsiØPõÚ ö©õzu ÂØ£øÚ ¹. 1,80,000 

 (B) 1.1.2015 •uÀ 30.6.15 Áøμ°»õÚ ÂØ£øÚ ¹. 60,000 

 (C) •Ê BsiØPõÚ ö©õzu C»õ£® ¹. 54,000 

 (D) {ºÁõPa ö\»ÄPÒ ¹. 37,000 
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17. Calculate managerial remuneration of G Ltd which was two 
whole time directors, a part time director and manager from the 
following. 

 Net profit before provision for income tax and managerial. 

 Rs. 

Remuneration but after depreciation 17,40,820  

Depreciation provided in books 6,20,000 

Depreciation allowable under schedule XIV 5,20,000 

 ¤ßÁ¸ÁÚ öPõsk, C¸ •Ê ÷|μ C¯US|ºPÒ, J¸ £Sv ÷|μ 
C¯US|º ©ØÖ® ÷©»õÍº öPõsh â ¼m ÷©»õsø©¯õÍº 
Fv¯® PnUQhÄ®. 

 Á¸©õÚ Á› JxUS ©ØÖ® ÷©»õsø©¯õÍº Fv¯zvØS •ß 
BÚõÀ ÷u´©õÚzvØS ¤ß EÒÍ {Pμ C»õ£® ¹. 17,40,820 
HkPÎÀ JxUP¨£mkÒÍ ÷u´©õÚ® ¹. 6,20,000. XIV 
AmhÁøn¨£i AÝ©vUPUTi¯ ÷u´©õÚ® ¹. 5,20,000. 

18. What do you mean by acquisition of business? 

 Â¯õ£õμzøu öPõÒ•uÀ ö\´Áx Gß£x £ØÔ E©x P¸zx 
¯õx? 

19. Write a note on ‘Sweat shares'. 

 ‘ìöÁm £[SPÒ’ £ØÔ J¸ SÔ¨¦ ÁøμP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions 

20. I Ltd made an issues of 60000 shares which were underwritten 
as follows:  

 A-30000 shares; B-18000 shares and C-12000 shares 

 In addition, there was firm underwriting as follows: 

 A-3000 shares; B-1500 shares and C-4500 shares. 

 The total subscriptions including firm underwriting were for 
45000 shares. The following marked from were included in the 
subscriptions. 

 A-9000 shares; B-13500 shares and C-5100 shares 

 Show the liabilities of each underwriters if the benefits of firm 
underwriting applications is given to individual underwriters by 
treating them like ‘marked forms’. 
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 I ¼m öÁÎ°mh 60000 £[SPÒ ¤ßÁ¸©õÖ J¨¦Öv 
AÎUP¨£mhx. 

 H & 30000 £[SPÒ, ¤ & 18000 £[SPÒ ©ØÖ® ] & 12000 
£[SPÒ Tku»õP {ÖÁÚ J¨¦Öv ¤ßÁ¸©õÖ EÒÍx. 

 H & 3000 £[SPÒ, ¤ & - 1500 £[SPÒ ©ØÖ® ] & 4500 £[SPÒ 

 {ÖÁÚ J¨¦Öv²® ÷\ºzx ö©õzu® HØ¦PÒ 45000 £[SPÒ. 
¤ßÁ¸® SÔ°mh £iÁ® CÆ÷ÁØ¤À ÷\º¢xÒÍx. 

 H & 9000 £[SPÒ, ¤ & 13500 £[SPÒ ©ØÖ® ] & 5100 £[SPÒ 

 {ÖÁÚ J¨¦Öv Âsn¨£[PøÍ uÛ |£º J¨¦Öv¯õÍºPÐUS 
SÔ°mh £iÁ® GÚ öPõsk £¯ÚÎzx JÆöÁõ¸ 
J¨¦Öv¯õÍ›ß ö£õÖ¨¦PøÍ PõmkP. 

21. J Ltd has an issued share capital of 650 7% redeemable 
preference shares of Rs. 100 each and 4500 equity shares of  
Rs. 50 each. The preference shares are redeemable at a premium 

of %
2
1

7  on April 1 2015. The company’s balance sheet as on 

March 31 2015 was as follows: 
Liabilities  Rs. Assets Rs. 

Share capital Fixed assets 3,45,000

Issued 650 7% redeemable preference 65,000 Investments 18,500

  shares of Rs. 100 each fully paid Bank balance 31,000

4500 equity shares of Rs. 50  2,25,000  

  each fully paid  

Profit And Loss a/c 48,000  

Sundry Creditors 56,000  

 3,94,500  3,94,500

 In order to facilitate the redemption of preference shares, the 
company decided 

 (a) To sell all the investment for Rs. 16,000 

 (b) To finance part of the redemption from company funds, 
subject to learning a balance of Rs. 12,000 in profit and loss 
account and  

 (c) To issue sufficient equity shares of Rs. 50 each at a 
premium of Rs 13 per share  

  Give necessary entries for redemption and new balance 
sheet.  
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 ÷á ¼m u»õ ¹. 50, 4500 \© £[SPÒ ©ØÖ® u»õ ¹. 100, 650 7% 
«ÒuS •ßÝ›ø© £[SPÒ öPõsh öÁÎ°mh £[S •uÀ 

öPõskÒÍx. 2015 H¨μÀ 1À C®•ßÝ›ø©¨ £[SPÒ %
2
1

7  

•øÚ©zvÀ «mP ÷Ási¯x. 31 ©õºa 2015CÀ C¢{Ö©zvß 
C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

£[S •uÀ : öÁÎ°mhøÁ {ø»a ö\õzxUPÒ 3,45,000 

650 7% u»õ ¹. 100 «Ò uS •ßÝ›ø©¨ •u½kPÒ 18,500 

  £[SPÒ •Êx® ö\¾zu¨£mhx 65,000 Á[Q°¸¨¦ 31,000 

4500, u»õ ¹. 50  \© £[SPÒ    

  •Êx® ö\¾zu¨£mhx 2,25,000   

C»õ£ |mhU PnUS 48,000   

£Ø£» PhÜ¢÷uõº 56,000   

 3,94,500  3,94,500 

 •ßÝ›ø©¨ £[S «m¤ØS Á\v¯õUP C¢{Ö©® Gkzu 
•iÄPÒ : 

 (A) •u½kPÒ ¹. 16,000 ØS ÂØP ÷Ásk®. 

 (B) C»õ£ |mhU PnUQÀ ¹. 12,000 Âkzu C¢{Ö© {v 
«m¤ß J¸ £SvUS {v¯ÎUPÄ®. 

 (C) ÷uøÁ¯õÚ AÍÄ \© £[SPøÍ u»õ ¹. 50I  u»õ ¹. 13 
•øÚ©zvØS öÁÎ°hÄ®. 

22. K Ltd issued 6% debentures of Rs. 5,00,000 with a condition that 
they should be redeemed after 3 years at 10% premium. The 
amount allocated for the redemption of debentures is invested in 
5% state Government securities. The sinking fund tables shows 
that Rs. 0.317209 at 5% compound interest in 3 years will 
become Re.1. Prepare necessary ledger accounts.  

 ÷P ¼m ¹. 5,00,000 6% Phß £zvμ[PøÍ ‰ßÖ BsiØS ¤ß 
10% •øÚ©zvÀ «mP ÷Ásk® GßÓ {£¢uøÚ²hß 
öÁÎ°mhx. Phß £zvμ «m¤ØS JxUQk® öuõøPPÒ 5% 
©õ{» Aμ_ ¤øn¯[PÎÀ •u½k ö\´¯¨£mhx. SÂÄ {v 
AmhÁøn PõmkÁx ¹. 0.317209 Gß£x 5% Tmk Ámi°À 3 
BskPÎÀ ¹. 1 BP ö£¸Q Á¸®. ÷uøÁ¯õÚ ÷£÷μmkU 
PnUSPÒ u¯õ›UP.  
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23. L Ltd. was formed with an authorised capital of Rs. 12,00,000 
divided into equity shares of Rs. 10 each to acquire the business 
of A and B whose balance sheet on the date of acquisition was as 
follows : 

Liabilities  Rs. Assets  Rs. 

Capital  6,00,000 Buildings  7,00,000 

General reserve  4,00,000 Stock  2,00,000 

Creditors  2,00,000 Debtors  1,60,000 

Provision for bad debts  10,000 Bank  1,50,000 

 12,10,000  12,10,000 

 The purchase consideration was agreed upon at Rs. 14,00,000 to 
be paid in Rs. 12,00,000 fully paid equity shares at Rs. 11 and 
the balance in cash. Give Journal entries to record the above and 
prepared the balance sheet of L. Ltd assuming the vendor’s 
account is finally settled. 

 ‘H’ ©ØÖ® ‘¤’ BQ÷¯õ›ß Â¯õ£õμzøu Áõ[SÁuØS ¹. 
12,00,000 u»õ ¹. 10 \© £[SPÍõP ¤›UP¨£mk AÝ©vzu 
•u¾hß E¸ÁõUP¨£mh GÀ ¼mß C¸¨¦ {ø»U SÔ¨¦ 
Áõ[S® ÷uv°À ¤ß Á¸©õÖ : 

ö£õÖ¨¦PÒ  ¹.  ö\õzxUPÒ ¹. 
•uÀ 6,00,000 Pmhh[PÒ 7,00,000 
ö£õxUPõ¨¦ 4,00,000 \μUQ¸¨¦ 2,00,000 
PhÜ¢÷uõº 2,00,000 PhÚõÎPÒ 1,60,000 
ÁõμõU Phß JxUS  10,000 Á[Q  1,50,000 
 12,10,000  12,10,000 

 öPõÒ•uÀ ©Ö£¯ß ¹. 14,00,000À, ¹. 12,00,000 •Êx® 
ö\¾zu¨£mh \©£[SPÍõP u»õ ¹. 11ØS® «u® EÒÍøu 
öμõUP©õPÄ® ö\¾zu ÷Ási¯x. ÂØ£Áº PnUS CÖv¯õP 
wºUP¨£mhx GÚ öPõsk ÷©ØTÔ¯ÁØøÓ £v¯ SÔ¨÷£mk 
£vÄPÐ® ©ØÖ® GÀ ¼mß C¸¨¦ {ø»U SÔ¨¦® u¯õ›UP.    

24. Explain the various components of final accounts of a company.  

 J¸ {Ö©zvß CÖv {ø»U PnUSPÎß £À÷ÁÖ TÖPøÍ 
ÂÍUSP. 

——————— 


